sunnpn TIVR3 DA% 017bdn YU R tUnn IR

CUUMIEN™ vvmnpn 7aym (L3 80-9 32, 64) pvwmn bIDONI A3vBR 139D

DY-oOBI N3 386-7 TR .3 64-y 16, 32 ovnbw ovvoon Sw ap unnINd

noveAn vd3 64 0'IBOMm 1av Yak  ,2vwn 19 Y5 kY PR vra 32-3 16 probw
LIV RYTOIRD

S 21%°n .INB DUY0OM (3993 RYTOSvnhT 1I¥nd ovpbw bYibbpa "mavmntn
eabon Taynn ST onoavpnn LTt - YuEn Tomn R ST{i)-n vMAWR2 DYdO»
(NI Nwa w3 1Y k3 owbw

BNIR TUEAY BSY BBTIDA 13573 DrIWIR RKIPD v Taven mwmn L
LHIIDTB  TWT PIN BV VEITEI 12T 00730IR 31hDY DA PTIY R, Swen?
LTI WHNYHY Ywnnh

BY7DO” 99 NYDIPD navTHR TIYER 9I02 735N N1TIPR Sv (op) won ow L2
,FRNDINT, FPREM on 5% naxmasT  .vnhwn  Javniw ompd wsID2 002w
.FPREM]

b obw o Ryapn Tap 21M0Y woR» TaYHR Lp¥a X .1 xhom azen
.1 o3 .o%w apomd (195Yh nRYANT DR 3n132Y wmm won3 179y Hivy Tavmn
L2210 K10 Ovees obw Ypor Sw avxviw Tawvn Yy wynb  ooowhon L2 D3
7993 .'991  23.0001 xvy 22.9999 x5 ,23.0 xn 23 obwn qwonn v bw avyen
N3O0 L,NYNY3 NIVY AYIYD LRIDVR LRSI YRR INY 0vnbw poYpom  DR4Ipw
NISHY WY NIINBTY L ID0BT T33°¥3 9973 D1thY MWy 0T emp wnon Yo
ADOIT Y1 YY OR ,713 1P2I9R RIMW 20mm L3y i b sty 1vye 3gm
s .svmnon Tayen Sw Control  Word-n bw avx%ipvam ax vxn bw annon /
.vomp 51 - TaymR JIN3 19w, 117312 TIWVIR HY nibyip 9P nivapen

-» Yy1any) FILD Xap3 obw vm11D3 TbOom 11121 12YER Y DXIIPN ATIPDR
Tpom 11731 nuamon pyTIpsn L (wnn vRTIb3 BaBoR 1T nkapw FLD
vE1Ypa Do naaniow FST, FSTP-n %r7anb) FIST, FISTP o xapa obw wnmidd
nYLENIR NYYIYe Y3 o3 v vd 16 -32 11T Yw pr1IIpIR M3y L (Conn
X1 (72%3 AR*Tp T29DIR MY LW KY L7393 NIpn TINBIR) DYTIIDIRG INRY
.FIADD, FISUB, FISUBR, FIMUL, FIDIV, FIDIVR :>ommn vnipa 1y7072 “5On
JFISTP-4 FILD nyTippa PYY IR @vomn3 v a 64 va1 owabw 1IdT  *T1T9IR
.13%3 2 32-9 16 11757 TINDIND P NIOAIN NYTIREN TN

pao%  ,mv33  L,ax1n vaxy Var3-s L Varl, Var2 ows orames 3 oY v oX , 20

Y7



,var3-a pbv vmnypa nreann nx 2senby oYY vsaipa bropons Var2-y Varl nR
IR NRY My IR

;073 32 8 16 %7112 on Var3d-a Varl, Var2 ox

FILD Varl
FIADD Var2
FISTP Var3

:vva 64 Y1930 on oeRY

FILD Varl
FILD Var2
FADD

FISTP Var3

.swm» B30 X FADD-w 2% v

*DIR DX MMM 1%%n niPavomw gwm A% anIxa b nva HE2Y e

bp mapma Swmd pabema o V20K S3T ,Cumm 31¥%3 DUPY 0 IDond  OvTbonn
.357 Tn1 azsn paden

PN



call_idl.c, jdiv_mo?.asm, idiv_mo3.asm K313 N1>3d0

wEvan ik kW call_idl.c nraswnn bw wIn wants KIN KD WO M
DR RT3 (XD 00972 TIYBR YI2IKI nopnenn YYasdR NI1YWLIT NtV VW
N300 N oSvnmnR Tavsn pTya oveben Yw apunntaRa YW wisen

. onRneR T3yn3 0onbw Su npusny Ik v mnd KT 19PN xpaYIn

e X% apabnn bw Yaacyow pvaviwmm MK N33 L RDAITT D
g>¥3p3 idiv_mod Sw Q'wammn vaw (2 Y7300 LRI03°R UMY IO AN
*0%3 2139 N1 vxpaIDme masa ®an idiv_mo3.asm -3 idiv_mo2.asm
-3 bRy 0.499999 v nnnon "y xon Yiacva idiv_mo2.asm -2 .awn
13997 Yw Control Word-aw RC-% 01 91wn »w nagn »iryr idiv_mo3.asm

idiv_me3.asm yaypa Control Word-n %33+)

Y9pBn 1979 n1vaw v1v by awyy idiv_mo3.asm-2 Contrel Word-n %inv)
n3¥n  .7An vae% A Sw o varnewy Save CW ab wym o mamen n?
»1> Yy Control Word-m %w >ndyan 77vn a0 Yy mowyy RC-Y 01 Jwwm
=% 7t anacyey 1Y nyvesa nabays yizta ,New CW 793 manem® anasn
77pp3 w3 Control Word-n %v 1mswn .Control Word

FSTCW Save CW

T7IPDT Y o) v IRrERY n3vwiIan nvenna

FLOCW Save CW

nytapen "y eyl Control Word-3 »amra vyiswm

FSTCW New CW
AND New CW,1111001111111111B
OR  New_CW,0000010000000000B
FLDCW New _CW

nIpe v1 by vbw spayin §vn vapek "y 01 TR nx RC-n Yy Apaon
.OR-7 n13pd "y RC-n v 70 v+3% 1 na'ndy AND-n

pEY



QYRR W3 ARTLRNYIRG VINOH

7298 0Unbwn 0°100BN NIYY 1Y by Do NR QWWEID DWARIBN W

I LENYIRT  yayen b FIDIVR "y apadma FILD ampon 'y Tayen

nRw 3wen FISTP mapdi "y nowyd ORYINN RAh R nowpd KRR
-FPREM n1ippa win'wy 7aynb ovanomn 2 nivyw "'y movy apavnn

MTpon

FILD WORD PTR [BP+6)

ATIPON ,0DR2 PIPA Y3BR 13I3NAY DI L7IOMT DR YW

FTST
NYTIpPDR LDDR QY MDORT DR MW

FSTSW AX
SAHF

-2 B3 BYIWMD IMIR Dwm .DYPATT IAIRY ARIIWAR NIRYIN DR 429
P7IRD 1INIR 1ravm Jow) ©HRa Apadma Yipvw? Mwpn Y33 idiv_mol.asm

oy’ o vaon 1va YIam 1ORORDY L 11TV R R 0BX @Y oY 1P
(7o

*"Y O Aptnm ¥Ix¥S3 KIN TEBaA DOR2 PYAY 1IWITI RY 13w (UpNN ANpna
1TpEn

FIDVR WORD PTR [BP+4}

nipen MY ,nowmn AR¥YIND A 3903

MOV BX, [BP+8]
FISTP WORD PTR [BX]

-1 ,0°P11T P12y TnT ¥I¥C3 7N YRR AXYINA DR 12°¥H N33
. Jpynn ST

Tvn nx Sap» ST(0)-w o3 Rwana 777 Yo nvawna bwonxea a1

ST(G)-1 2 obwn +qoown  3and1 Tv°b ,2.38636-3 gbmam 1om xS L44.0
. P1nn
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NYTIPER YUY oY) apItnn nYNe 3N

FILD WORD PTR [BP+6]
“FILD WORD PTR [BP+4]
FPREM

1HYRY nYoRwn ’¥n3 ST(0)-3 y'wsy .3%wn o°-FILD-n %w 710w 35 oW
N1IIPON PI¥II NIPY2 VWY LNIOBT R¥P) ST(1)-3

MOV BX, [BP+10]
FISTP WORD PTR [BX]

ST{0)-3 1swoy R¥m) masen 7y LST(1) jprommy aweh mR¥InT 2%
ATIPT VMY WY MITIY MR PIIP N3N

FFREE ST

gva31y ST(1)-1 ST(0) Dv93IXn 92w nak>3m 1% @ agv 1 oot
-% p*pr1 onvaw v a¥nn 0v2En N

,FILD WORD PTR [BP+6] = nx , jywr~ a%w

ST(0) 44.0
ST(1) p*n
,FILD WORD PTR [BP+4] »anx ,~w 2%
ST(0) 105.0
ST(1) 44.0
,FPREM 7R , o bw 25w
ST(0) 17.0
ST(1) 44.0

,FISTP WORD PTR [BX] *"mx ,°y>31 2%
3¥n? D931y Taven Yw priaarn bRy 17 obwn 1R 23w Y

ST(0) 44.0
ST(1) p*n

.23 pp>s omraww  (FFREE ST *anR) swoann 2507 W
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/* call idl.c - call assembler subroutine idiv_mod.asm from C program */

#include <stdio.h>

.____extern int idiv_mod(int Num, int Denom, int *Q, int *Rem);

vold main()

{
int Num, Denom, Q, Rem, No_Zero Divide;

printf("\Enter Numerator, Denominator\n:");

scanf ("%d %d",&Num, &Denom);

No_Zero Divide = idiv_mod{(Num, Dencm, &Q, &Rem) ;

if ({No_Zero_Divide)

printf("\n %d div %d = %d, mod(%d,%d) = %d\n",

Num, Denom, Q, Num, Dencm, Rem);

else

printf("\nError: Zero Divide.\n"):

} /* main */

E:\>tcc call_idl.c idiv_mo2.asm
Turbo C++ Version 3,00 Copyright (c) 1992 Borland Internaticmal

call idl.c:

idiv_mo2.asm:
Turbo Assembler Version 3.1 Copyright (c) 1588, 1992 Borland International -

Assembling file: idiv_mo2.ASM

Error messagesd: None
Warning messages: None
Passes: 1

Remalning memory: 418k

Turbo Link Version 5.0 Copyright (c) 1992 Borland International
Available memory 4136272

E:\>call_idl.exa

Enter Numerator, Denominator
1105 44

105 div 44 = 2, mod(105,44) = 17

E:\>

CNRES



.
’

idiv mo2.asm - Assembler implementation of C-callable function

e oo ciddw mod.

-
’

-

.MODEL SMALL
Static variables

.DATA

Half DQ 0.4999999999999

’

.CODE
.386
.387

; Implementation of C callable function ...

wa

[BP+4]

we we e wy W

PUBLIC _idiv_mod

_idiv mod PROC NEAR

PUSH BP : Preserve BP

Compute Q := |_ Num / Denom _
function i1div mod returns 0 if Denom = 0 (illegal ..

... division b; zexo), 1 otherwise

int idiv mod(int Num, int Denom, int *Q, int *Rem)

[BP+6] [BP+8] [BP+10])
| ,Rem := MOD(Num, Denom)

MOV BP,SP ; Set BP to point to Parameter area
:= Denom

FILD WORD PTR [BP+6] : ST(0)
FTIST ; Denom = 0 ?
FSTSW AX ; AX = Status word

SAHF : Copy to flags register
JNZ Cont ; No, continue regular operation

; Yes, Denom = 0
FFREE ST
MOV AX,O0 ; Return value
JMP Done ; Skip

Cont: ; Denom <> 0

FIDIVR WORD PTR [BP+4] : ST
FSUB Half ; Subtract
MOV BX, [(BP+8] ; B

FISTP WORD PTR [BX] ; *
FILD WORD PTR [BP+6] ST
FILD WORD PTR [BP+4] ST
FPREM ST

® We ma g

Q

t= 0
following code

= Num / ST, ST = Num / Denom
1/2 to ensure rounding down

X := Offset Q

1= ST

Denom

Num, ST(1l) = Denom
ST mod ST(1)

MOV BX, [BP+10] ; BX := Offset Rem

FISTP WORD PTR [BX] ;
FFREE ST - H

*

Rem := ST

MOV AX,1 ; Ensure return value = 1

Done:

RET

_idiv mod ENDP

-
L4

»
e’

END

POP BP ; Restore BP register
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-idiv-mo3.asm — Assembler implementation of C—callable function idiv_mod.

13 12 1110 9 8 7 6 5 4 3 2 1 0

R
7
;
; Control Word
H
’
L4
[4
‘
f

15 14
R e e i it St st bl Seltd + + + +————t————t
| RJ R]R|I]|] RC|PC | R}|R|PM| UM |OM| 2M | DM | IM |
L < <4 i I B | L b b Il . i i - L e
.MODEL SMALL

‘

.DATA

H
Save CW DW
New CW DW

7

;
.CODE
.386
.387

B Me e N N2 wy wy

Static Variables

)

Implementation of C callable function ...

int idiv_mod (int Num, int Denom, int *Q, int *Rem)
[BP+4] [BP+6] [BP+8] [BP+10]

Compute Q := [_ Num / Denom _| ,Rem := MOD(Num, Denom)
function 3idiv_mod returns 0 if Denom = 0 (illegal

division by zerc), 1 otherwise

PUBLIC _idiv_mod
_idiv_mod PROC NEAR

PUSH BP ; Preserve BP

MOV BP, SP ; Set BP to point to Parameter area
FSTCW Save CW ; Store status in Memlé
FSTCW New_ CW ; Store status in Memlé

AND New CW,1]111001111111111B ; Erase existing RC

OR New CW,0000010000000000B ; Set RC to 01
; (Round towards -infinity)
FLDCW New CW ; Set New CW
FILD WORD PTR [BP+6] ; ST(0) := Denom
FTST ; Denom = 0 ?

FPSTSW AX ; Transfer SW to AX

SAHF ; Copy to flags register
JNZ Cont ; Demon != 0
; Yes, Denom = 0
FFREE ST

MOV AX, O ;: Return value := 0

Cont:

JMP Done ; Skip following code

; Denom != 0
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i - —FIDIVR- WORD--PTR- [BP+4] ; ST = Num / ST, ST = Num / Denom

MOV BX, [BP+8] ; BX := Offset Q
FISTP WORD PTR ([BX] ; *Q := 87T
FILD WORD PTR [BP+6] ; ST = Denonm
FILD WORD PTR [BP+4] ; ST = Num, ST(1l) = Denom
FPREM ; ST = ST mod ST({1)
MOV BX, [BP+10] ; BX := Offset Rem
FISTP WORD PTR [BX] ; *Rem := ST
FFREE ST ; Free ST(0)
MOV AX,1 ; Ensure return value = 1
Done:
’
FLDCW Save CW ; Restore control word to original wvalue
POP BP ; Restore BP register
RET

_idiv_mod ENDP
;
;

END

238



call id2.c, idiv_mg9.asm X»a17 ny+333n

» ©¥3 32-1 noT32 idiv_mod nR hommn idiv_mo9.asm nv131n7
.idiv_mo2.asm-% nmi13 vvmhsn Tayna mubon MpUURRYIRD VIBE 1IN
,093 32 p'abwa 133 nR»

:w 723 idiv_mo2.asm-» nb733 idiv_mo9.asm bw nv13imn

.WORD PTR azypma DWORD PTR X»n nvionmn 7%  casting-n -
Denom ,o%73 Num wyn> a*queapn 23 %@ nvaomen N2 ovvenn -
.idiv_mo7.asm-2 w5 pr 13 ,4-3 Rem-»y Q-1 2-3

idiv_mo2.asm-% mar  idiv_mo9.asm-3 N333103 NITPD Yo n3awn

-1 16 1379°%% nyvcwe  vaysn ay osnbw2 mbiep yxav v own
LBN3 IR AT ©Y2 64-2 Py Luvd 32
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—/* call.id2.c - call assembler subroutine idiv_mod.asm from C program */

#include <stdio.h>

extern int idiv_mod(long int Num, long int Denom, long int *Q, long

int *Rem);

void main ()

{

long int Num, Denom, Q, Rem;
int No_Zero_Divide;

printf("\Enter Numerator, Denominator\n:");
scanf ("$1d %1d",&Num, &Denom);
No_Zero_Divide = idiv_mod (Num, Denom, &Q, &Rem) ;
if (No_Zero_Divide)
printf("\n %1d div %1d = %1d, mod(%1d, %ld) = $ld\n",
Num, Denom, Q, Num, Denom, Rem);

else
printf ("\nError: Zero Divide.\n");

} /* main */

E:\>tcc -v call_id2.c idiv_mo9.asm
Turbo C++ Version 3.00 Copyright (c¢) 1992 Borland International

call_id2.c:
idiv_mo9.asm:
Turbo Assembler Version 3.1 Copyright (c) 1988, 1992 Borland

International

Assembling file: idiv_mo9.ASM

Error messages: None
Warning messages: None
Passes: 1

Remaining memory: 429%

Turbo Link Version 5.0 Copyright (¢) 1992 Borland International
Available memory 4149256

E:\>CALL_ID2.EXE

Enter Numerator, Denominator
: 700065 55000

700065 div 55000 = 12, mod(700065,55000) = 40065

E:\>

kS H



cor—peidiv. mo9.asm - Assembler implementation of C-callable function idiv_mod.
.MODEL SMALL
; Static Variables
H

.DATA

Half DQ 0.499999999993%9

I

.CODE

.386

.387

Implementation of C callable function ...

int idiv_mod(long int Num, long int Denom,

“ e

[(BP+4] [BP+8]
int *Q, int *Rem)
[BP+12] [BP+14]
Compute Q := |_ Num / Denom _| ,Rem := MOD(Num, Denom)

function idiv_mod returns 0 if Denom = 0 (illegal ..
... division by zero), 1l otherwise

WP Ma Ne M wE W we wy me

PUBLIC _idiv mod
_idiv_mod PROC NEAR
PUSH BP ; Preserve BP
MOV BP, SP ; Set BP to peoint to Parameter area
FILD DWORD PTR [BP+8] ; ST(0) := Denom
FTST ; Denom = 0 ?
FSTSW AX ; AX = Status word
SAHF ; Copy to flags register
JNZ Cont ; No, continue regqular operation
; Yes, Denom = 0
FFREE ST
MOV AX, 0 ; Return value := 0
JMP Done ; Skip following code
Cont: ; Danom <> 0
FIDIVR DWORD PTR [BP+4] ; ST = Num / ST, ST = Num / Denom
FSUB Half ; Subtract 1/2 to ensure rounding down

MOV BX, [BP+12] ; BX := Offset Q
FISTP DWORD PTR [BX] ; *Q := ST
FILD DWORD PTR [BP+8] ; ST = Denom
FILD DWORD PTR [BP+4] ; ST Num, ST(l) = Denom
FPREM ; ST = ST mod ST(1)
MOV BX, [BP+14] ; BX := Offset Rem
FISTP DWORD PTR [BX] ; *Rem := ST
FFREE ST ;
MOV AX,1 ; Ensure return value = 1

Done:
POP BP ; Rastore BP register
RET

_idiv_mod ENDP

r

s

END
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fderivl.c, fderiv2a.c, fdl.asm ®»311 P3N

WIDI TR nR o wemanb 13 Bhn pivaowna Yw o vpeyn 1vpenn
LQYMWII DUINPNT TIBI PINI 2T L WBIDI AO¥PIID?

MIPY? DX TIMIR L PIIVOA NP IR S"Y ANI3 N3N TUIPIID  jnama
D973 UKD YNTMR LOTON YT LATIPA2 AP AATAAN Yv el 2vp
Pon% ,nwOIR BRI XD YR DYTIY NUON2 R? VAR maviom YXp3D dwn?

SR MW 3PN IR YIWII IDIRT NIDIMY ARIWS SV 110D R

Y@ 213237 R NITAINR J2 Y DDIAm YIWIT 2170 2wn

fr(x) = Lim (f{x+h) - f(x-h})/{2h)
h->0
:(*) anmosan "y DATTAI? 297°p7 PRIOAI DR M1
f'(x) = (f(x+h) - f(x-h))/(2h) (*)

»mab h oarex xenmoabrwn .nataab 2R Y2p1 L, qup preon h Ty
DR OYIX noanm 3CAIR (153 TN aUAY 3wena Nyt jop h-w Yoo
nya? avm h Lam pIn . P 1T SR n1evab oy m jop h o
KT awpR  11MD .0YwhnIm  DUARA 1P K111 IRYY x-% nvon qup
¥¥ 3w 1w 2.0-2 apadn *"y h nr ropR® mIn Yor h = x/2 ok Yoanmd
(*) nno1an Y ovapay ovawen 2 b L,0a3naY 0PN oYW DY
Tn23  1%%n pavassna Lanaa Yooz Jop ¥ONIRT O5TY3 DRY1v3 whonn
P73 30 ovaveenn sbeR L 16384.0 phn f(x) Yw vhwn 1wy 11bhoox
.anyva bbb 3von fleat-»n ma3a anv

*29WN AT VY QORWIIY 80P TR ONTINAVRA VIR BTIOYIN DY Ipwn
QDY DYPPR KD R

nabwmn ne3oann .C newa anvsiabxa wanen ®on fderivl.c neaoamm
v5amoR3 w3 anyaaben nr oowmn fdl.asm-1 fderiv2a.c
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fderiv2b.c, fderiv2c.c. fd2.asm, fd3.asm ny*iowna

ovapon %2y fdl.asm-1 fderiv2a.c Yw mivsapnn 1 %% myvaoann
.Tong double-> double

oU*poR  MAY  nvwv) avya pvwmsn fd2.asm-y fderiveb.c pvyapn
.double

g>IBoH 2y w1 nvra ovomen fd3.asm-y  fderivic.c DY3IpR
.long double

1303k 11Y°0BR 230N L,0 YT NI BOPYTIA XD DYTIIY 1INIKY KD
T3y 2097152.0-% double =733y 131072.0 %9113 01 n¥d w3 brpom
.long double
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/* fderivl.c - approximate derivative function */

#include <stdio.h>
#include <math.h>

float approx_fderiv(float (*f)(float), float x)

{
float h, £d0, £d1, eps;

h = x/2.0;
£d1 = ((*£)(x+h) - (*£)(x-h))/(2*h);
eps = fabs((*f)(x)/8192.0);

do {
£40 = £41;
h = h/2.0;
£4l = ((*£) (x+h) - (*f) (x-h))/(2*h);
} while(fabs(£f4d0 - £dl) > eps );

return f£dl;

} /* approx_deriv */

float £(float x)
{

return x*x*x - 2,.0*x*x + 3.0*x - 8.0;
Y /* £ %/

float real_fderiv(float x)

{
return 3.0*x*x - 4.0*x + 3.0;

}y /* £ */

int main()

{
printf("approx_deriv(5.0) = %f\n", approx_fderiv(f, 5.0));
printf("real_fderiv(5.0) = %f\n", real_fderiv(5.0));

} /* main */

E:\>tcc -v fderivl.c
Turbo C++ Version 3.00 Copyright (c) 1992 Borland Intermatiomal

fderivl.c:

Turbo Link Version 5.0 Copyright (c) 1992 Borland International
Available memory 4103660

E:\>FDERIV1l.EXE

approx_deriv(5.0) = 58.001564

real_fderiv(5.0) = 58.000000

E:\>

L



/* fderiv2a.c - approximate derivative function */

#include <stdio.h>
#include <math.h>

Am;;tefhwfloat approx_fderiv(float (*f)(float), float x);

float f(float x)
{

return x*x*x - 2.0*x*x + 3.0*x - 8.0;
Y /* £ */

float real_fderiv(float x)
{

return 3.0*x*x - 4.0*x + 3.0;
} /* real_fderiv */

int main()

{
printf ("approx_deriv(5.0) = %£f\n", approx_fderiv{f, 5.0));

printf{"real_fderiv(5.0) = %f\n", real_fderiv(5.0));

return 0;
} /* main */

E:\>tcc fderiv2a.c f4dl.asm
Turbo C++ Version 3.00 Copyright (c) 1992 Borland Intexrnmational

fderiv2a.c:

fdl.asm:
Turbo Assembler Version 3.1 Copyright (c) 1988, 1992 Borland

International

Assembling file: fdl.ASM

EXrror messages: None
Warning messages: None
Passes: 1

Remaining memory: 429k
Turbo Link Version 5.0 Copyright (¢} 1992 Borland International

Avajilable memory 4141520
E:\>FDERIV2A.EXE
approx_deriv(5.0) = 58.001526
real_fderiv(5.0) = 58.000000

E:\>

& ok



; fdl.asm - implement numerical differentiation

.

e

e ......o MODEL SMALL. . . .
.DATA
h DD ?
two DD 2.0
£4o0 oo 0.0
eps_const DD 16384.0
eps DD 0.0
temp DD 0.0
.CODE
;
?
H
H
.386
.387

PUBLIC _approx_fderiv
_approx_fderiv PROC NEAR

PUSH Bp

MOV BP,SP

FLD DNORD PTR [BP+6]

FDIV two

FABS

FSTP h

compute (*f) (x+h)

e e Wma

FLD DWORD PTR [BP+6]
FADD h

FSTP temp

PUSH temp

CALL WORD PTR [BP+4]
FLD DWORD PTR [BP+6]
FSUB h

FSTP temp

PUSH temp

CALL WORD PTR [BP+4]
ADD SP,4 3 Free P
FSUB H
FLD h ;s ST(0) =
FMUL two : 8ST(0) =
FDIV : ST(0) =
FSTP £d40

PUSH DWORD PTR [BP+6]
CALL WORD PTR [BP+4]
ADD Sp,4

FDIV eps_const

FABS

FSTP eps

float approx_fderiv (float (*f)(float), float x)

[BP+4] [BP+6]

-(*f)(x-h) }/ (2*h);

s Push x+h
ST(0) = f£f({x+h)

I 4

Free Parameter

Push x-h

ST(0) = f(x-h), ST(1l) = f(x+h)
arameter
ST(0) =

Ll

f(x+h)- £f(x-h), ST(1) = Empty

h, 8T(1) = £(x+h)- f(x-h)
2h, ST(l) = f{x+h)- £(x-h)
(E(x+h)- £(x-h))/2h

43



Dol:
FLD h
FDIV two
FSTP h

LT T}

LT

compute (*f) (x+h) -(*f)(x-h) )/ (2*h);

FLD DWORD PTR [BP+6]

FADD h

FSTP temp

PUSH temp ; Push x+h

CALL WORD PTR [BP+4] ; ST(0) = f£(x+h)
ADD SP,4 ; Free Parameter

FLD DWORD PTR [BP+6]

FSUB h

FSTP temp
PUSH temp

Push x-h

-
r
-
I

CALL WORD PTR [BP+4] ST(0) = £(x-h), ST(1) = f(x+h)

ADD SpP,4 ; Free Parameter

FSUB : ST(0) = f(x+h)- £f(x-h), ST(1l) = Empty
FLD h ; ST(0) = h, ST(1) = £(x+h)- £ (x-h)

FMUL two ; ST(0) = 2h, ST(1) = £(xt+h)- £(x-h)

FDIV ; ST(0) = (£(x+h)- £(x-h))/2h

FLD ST ; ST(0)

FLD £40

FSUB ; ST(0)
FABS ;3 ST(0)

FCOMP eps
FSTSW AX
SAHF
FSTP £d0
JAE Dol

LYY

FLD £40

POP BP

RET
_approx_fderiv ENDP

.
r

END

= (£(x+h)~ £(x-h))/2h, ST(1l) = (f(x+h)- £(x-h})}/2h

= current - £40
= | current - £40 |

14



/* fderiv2b.c - approximate derivative function */

#include <stdio.h>
#include <math.h>

extern double approx_fderiv(double (*£) (double), double x):

double f(double x)

{
return x*x*x - 2.0*x*x + 3.0*x - 8.0;
} /* £ */

double real_ fderiv{double x)
{

return 3.0*x*x - 4.0*x + 3.0;
} /* real_ fdexriv */

int main()

(
printf(*approx_deriv(5.0) = %1f\n", approx fderiv(f, 5.0));

printf("real_fderiv(5.0) = %lf\n", real_fderiv(5.0});

return 0;
} /* main */

E:\>tcc fderiv2b.c fd2.asm
Turbo C++ Version 3.00 Copyright (c) 1992 Borland Internmational

fderiv2b.c:

fd2.asm:
Turbo Assembler Version 3.1 Copyright (c) 1988, 1992 Borland

International

Asgsembling file: £42.ASM

Error mespsgages: None
Warning messages: None
Pasgses: 1

Remaining memory: 429k
Turbo Link Version 5.0 Copyright (c¢) 1992 Borland Imnternational

Available memory 4141520
E:\>FDERIV2B.EXE
approx_deriv(5.0) = 58.0000595
real_ fderiv(5.0) = 58.000000

E:\>

SuZay



£d2.asm - implement numerical differentiation

I % e W
i

-DATA
h »DQ ?
two DD 2.0
£40 DQ 0.0
eps_const DQ 131072.0
eps DQ 0.0
temp DQ 0.0
.CODE
? double approx_fderiv (double {(*f) (double), double x)
F [BP+4] [BP+6]
H
.386
387

PUBLIC _approx_fderiv
_approx_fderiv PROC NEAR

PUSH BP

MOV BP,SP

FLD QWORD PTR [BP+6]

FDIV two

FABS

FSTP h

compute (*£) (x+h) -(*£)(x~h) )}/ (2*h);

b B T 1Y

FLD QWORD PTR [BP+61]

FADD h

FSTP temp

PUSH DWORD PTR temp+4 : Push x+h
PUSH DWORD PTR temp

CALL WORD PTR [BP+4] # 8T(0) = £{x+h)
ADD Sp,8 s Free Parameter

FLD QWORD PTR [BP+6]

FSUB h

FSTP temp
PUSH DWORD PTR temp+4; Push x-h
PUSH DWORD PTR temp

CALL WORD PTR [BP+4] 3 ST(0) = £(x-h), ST(1) = f£f(x+h)

ADD sp,. 8 ; Free Parameter

FSUB 2 ST(0) = f£(x+h)- £(x-h), ST(1) = Empty
FLD h ; ST(0) = h, ST{(1l) = £{x+h)- f(x-h)

FMUL two ; ST(0) = 2h, ST(1) = £(x+h)- £{x-h)

FDIV ;7 ST(0) = (£(x+h)- f£f(x-h))/2h

¥STP £40

PUSH DWORD PTR [BP+10]
PUSH DWORD PTR [BP+6]
CALL WORD PTR [BP+4]
ADD SP,8

FDIV eps_const

FABS

FSTP eps

~ab



Dol:

we W N

~

FLD h
FDIV two
FSTP h

compute (*f) (x+h) -(*f)(x-h) )/ (2*h);

FLD QWORD PTR [BP+6]

FADD h

FSTP temp

PUSH DWORD PTR temp+4 ; Push x+h
PUSH DWORD PTR temp

CALL WORD PTR [BP+4] 3 ST(0) = f(x+h)
ADD SP,8 ; Free Parameter

FLD QWORD PTR [BP+6]

FSUB h

FSTP temp

PUSH DWORD PTR temp+4; Push x-h
PUSH DWORD PTR temp '
f(x-h), ST(1) = f£(x+h)

CALL WORD PTR [BP+4] : ST(0) =

ADD sp,8 ;3 Free Parameter

FSUB ; 8ST(0) = f(x+h)- f£(x-h), ST(1l) = Empty
FLD h 2 ST(0) = h, ST(1l) = f£f(x+h)- f(x-h)

FMUL two ; ST(0) = 2h, 8ST(1l) = f(x+h)- £(x-h)

FDIV ; ST(0) = (f£f(x+h)- £f(x-h))/2h

FLD ST ; ST(0) = (f(x+h)- £(x-h))/2h, ST(1l) = (f{x+h)- f£(x-h))/2h
FLD £40
FSUB 3 ST(0) = current - £4o0

FABS ; ST(0) = | current - £d40 |
FCOMP eps

FSTSW AX

SAHF

FSTP £fd4do

JAE Dol

FLD £40

POP BP

RET

_approx_fderiv ENDP

14

END



/* fderivic.c - approximate derivative function */

#include <stdio.h>
#include <math.h>

extern long double approx_fderiv(long double (*f)(long double),
long double x):;

long double f£(long double x)
{

return x*x*x - 2.0*x*x + 3.0*x - 8.0;
} /% £ *)

long double real_ fderiv{long double x)
{

return 3.0%x*x - 4.0*x + 3.0;
} /* real_fderiv */

int main()

{
printf ("approx_deriv(5.0) = %Lf\n", approx_fderiv(f, 5.0));

printf{"real_fderiv(5.0) = %Lf\n", real_ fderiv(5.0));

return 0;
} /* main */

B:\>tcc fderiv2c.c fd3.asm
Turbo C++ Version 3.00 Copyright (c) 1992 Borland International

fderivic.c:

£d3.asm:
Turbo Assembler Version 3.1 Copyright (¢) 1988, 1592 Borland

International

Assembling file: £d3 .ASM

Error messages: None
Warning messages: MNone
Pasgses: 1

Remaining memory: 429k

Turbo Link vVersion 5.0 Copyright (c) 1992 Borland International
Available memory 4141520

E:\>FDERIV2C .EXE
approx deriv{(5.0) = 58.000006
real_ fderiv(5.0) = 58.000000

E:\>

BN



£43.asm - implement numerical differentiation

s W N N

.DATA
h Dr *?
two DD 2.0
£40 T 0.0
eps_const DT 2097152.0
eps DT 0.0
temp DT 0.0
- CODE

long double approx_fderiv (long double (*f)(double), long double x)
[BP+4] [BP+6]

N e W ne

.386

.387
PUBLIC _approx_fderiv

_approx_fderiv PROC NEAR

PUSH BP

MOV BP, SP

FLD TBYTE PTR [BP+6]
FDIV two

FABS

FSTP h

compute (*f) (x+h) -(*f)(x-h) )/ (2*h});

e W W

FLD TBYTE PTR [BP+6}

FLD h

FADD

FSTP temp

PUSH DWORD PTR temp+6 ; Push x+h

PUSH DWORD PTR tenp+2
PUSH WORD PTR temp

CALL WORD PTR [BP+4] s 8T(0) = £(=x+h)
ADD SpP,10 ; FPree Parameter

FLD TBYTE PTR [BP+6]

FLD h

FSUB

FSTP temp

PUSH DWORD PTR temp+6 ; Push x-h

PUSH DWORD PTR temp+2
PUSH WORD PTR temp

-y

CALL WORD PTR [BP+4] ;7 ST(0) = £(x-h), ST(1l) = £(x+h)

ADD SP.10 3 Free Parameter

FSUB ;s ST(0) = f(x+h)- £(x-~h), ST(l) = Empty
FLD h ; S8ST(0) = h, ST(1) = £(x+h)- f£f(x-h)

FMUL two : 8T{(0) = 2h, ST(1l) = £(x+h)~- £{x-h)

FDIV : ST(0) = (f(x+h)- £(x~h))/2h

FSTP £40

249



PUSH DWORD PTR [BP+12]

PUSH DWORD PTR [BP+8]

PUSH WORD PTR [BP+6]

CALL WORD PTR [BP+4]

ADD SP,10

FLD eps_cons
e

FABS

FSTP eps

Dol:
FLD h
FDIV two
FSTP h

compute (*f) (x+h) -(*f)(x-h) )/ (2*h);

s e W

FLD TBYTE PTR [BP+6]

FLD h

FADD

FSTP temp

PUSH DWORD PTR temp+6 ; Push x-h

PUSH DWORD PTR temp+2
PUSH WORD PTR temp

CALL WORD PTR [BP+4] ; ST(0) = f(x+h)

ADD SP,10 ¢ Free Parameter

FLD TBYTE PTR [BP+6]

FLD h

FSUB

FSTP temp ,

PUSH DWORD PTR temp+6 ; Push x-h

PUSH DWORD PTR temp+2

PUSH WORD PTR tenmp

CALL WORD PTR [BP+4] ; ST(0) = f(x-h), ST(1l) = £(x+h)
ADD SP,10 ; Free Parameter

FSUB ; ST(0) = f(x+h)- f£f(x-h), ST(1l) = Empty
FLD h ; ST(0) = h, 8T(1) = £f(x+h)- £(x-h)

FMUL two ; ST(0) = 2h, 8ST(1) = f£(x+h)~ £(x-h)

FDIV : ST(0) = (f(x+h)- £f£(x-h))/2h

FLD ST ; ST(0) = (f(x+h)- £(x-h))/2h, ST(1l) = (f{(x+h)- £(x-h))/2h
FLD £40

FSUB ; ST(0) = current - £d40

FABS ; ST(0) = | current - £40 |

FLD eps

FCOMPP

FSTSW AX

SAHF

FSTP £40

JNAE Dol ; Reversed logic

FLD £40

POP BP

RET

_approx_fderiv ENDP

F

END

LSO



